
Caractéristiques de l'épreuve

Coupe de Tournefeuille TH2 joker

Joueurs : 37 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 0 B : 1 1

Serie 2 : A : 1 B : 2 3

Serie 3 : A : 3 B : 4 7

Serie 4 : A : 6 B : 4 C : 4 D : 3 17

Serie 5 : A : 8 B : 0 C : 0 D : 0 8

Serie 6 : A : 1 B : 0 C : 0 D : 0 1

Serie 7 : 0 0

La Chapelle-d'Armentières TH2 joker

Joueurs : 40 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 1 B : 0 1

Serie 2 : A : 2 B : 2 4

Serie 3 : A : 4 B : 3 7

Serie 4 : A : 3 B : 4 C : 2 D : 2 11

Serie 5 : A : 6 B : 7 C : 3 D : 1 17

Serie 6 : A : 0 B : 0 C : 0 D : 0 0

Serie 7 : 0 0

Laxou TH2 joker

Joueurs : 51 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 2 B : 0 2

Serie 2 : A : 1 B : 1 2

Serie 3 : A : 2 B : 2 4

Serie 4 : A : 9 B : 4 C : 1 D : 3 17

Serie 5 : A : 9 B : 4 C : 3 D : 4 20

Serie 6 : A : 4 B : 1 C : 0 D : 1 6

Serie 7 : 0 0

3X La Chapelle-d'Armentières Tournefeuille Laxou

Joueurs : 128 M = 256 D = 2

Joueurs par Série : Total :

Serie 1 : A : 3 B : 1 4

Serie 2 : A : 4 B : 5 9

Serie 3 : A : 9 B : 9 18

Serie 4 : A : 18 B : 12 C : 7 D : 8 45

Serie 5 : A : 23 B : 11 C : 6 D : 5 45

Serie 6 : A : 5 B : 1 C : 0 D : 1 7

Serie 7 : 0 0

Page 1


